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1. In a pie graph, if a component is represented as a sector

with sector angle 81° , then find the percentage of the

component value in the total.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_t5D60ed8jGnn

2. Find the mean of the first 10 natural numbers.

° Watch Video Solution

1
3. The mean of y and 1/ is z. Find the mean of 4% and —.

72

° Watch Video Solution

4.The daily wages of 20 workers are given below:

Salary (in rupees) Number of workers

(1]
By
100
150
200
Total

H;—nmm-h-

Find the mean daily wage of twenty workers.

° Watch Video Solution



https://dl.doubtnut.com/l/_OhiRVpzhqR1K
https://dl.doubtnut.com/l/_gkjZTcefSLob
https://dl.doubtnut.com/l/_a07NlG3j0jAB

5. The average weight of 25 students of a class is 28 kg. If the
average weight of all the boys is 30 kg and average weight of

all the girls is 25 kg, then find the number of boys in the class.

° Watch Video Solution

6. Find the median of the following values of a variable: 5, 16, 8,

3,4,2,and 17.

° Watch Video Solution

7.Find the median of the data 13, 22, 26, 17, 31, 42.

° Watch Video Solution



https://dl.doubtnut.com/l/_a07NlG3j0jAB
https://dl.doubtnut.com/l/_qAVpJYpv6VLD
https://dl.doubtnut.com/l/_hFJVwjW988U5
https://dl.doubtnut.com/l/_0weQONtv6v3o

8. Find the median of the following data:

-\.JI

| Variable (x) 2 T3] s THETIEE
Frequency (f] 4 2 & 9 10 3

I

° Watch Video Solution

9. Find the mode of 0,5,2,7,2,1,1,3,2,4,5,7,5,1and 2.

° Watch Video Solution

10. Find the mode from the following data:

Variable (x) 5 [ 1w [i1s]20]25] % [3s
Frequency (f) | 3 4 | 10 7 fs 4 2

° Watch Video Solution



https://dl.doubtnut.com/l/_X2k5VhVGz6MA
https://dl.doubtnut.com/l/_OqX9oDJtFdLF
https://dl.doubtnut.com/l/_GdESsNOntkUy
https://dl.doubtnut.com/l/_4WntBFFAcIR1

11. If the mode of the following data is 4, then find the median
of the data.

X _.-.'_ _]- p 5 f
/ | d : 7 iy s |

o Watch Video Solution

12. Find the mode when median is 12 and mean is 16 of a data .

° Watch Video Solution

13. The ratio of the mode and the median of a set of values is

15:11. Find the ratio of their mean and mode.

° Watch Video Solution



https://dl.doubtnut.com/l/_4WntBFFAcIR1
https://dl.doubtnut.com/l/_Sip9feelyJcq
https://dl.doubtnut.com/l/_FOae8jzDzMrH

Test Your Concepts Very Short Answer Types Questions

1. The class size of 9-12 (Inclusive form) is__

° Watch Video Solution

2. If the mean of x, y, and z is k, then mean of 2.1 and z
Y Y

o View Text Solution

3. A bar graph is drawn to the scale 1 cm = 250 units. The

length of the bar representing a quantity of 300 units

° Watch Video Solution



https://dl.doubtnut.com/l/_FskBIMoRPPyz
https://dl.doubtnut.com/l/_yvLaJe5cYwK9
https://dl.doubtnut.com/l/_Yxw2pCVkrFDc

4. In bar graphs, the width of the bar represents the value of

the item. (True/False)

° Watch Video Solution

5.1f the median of a,b, ¢, d,e,and f (a <b<c<d <e < f)

then the median of b,c,d,and e is

° Watch Video Solution

6.In histograms, width of the bars is determined by class size.

(True/False)

o Watch Video Solution



https://dl.doubtnut.com/l/_Yxw2pCVkrFDc
https://dl.doubtnut.com/l/_kbIArtLEI1BT
https://dl.doubtnut.com/l/_k5E5egA41Gja
https://dl.doubtnut.com/l/_9Ao3kUf1jIhs
https://dl.doubtnut.com/l/_dA3158uD1oBJ

7. The class mark of 10-15 (exclusive form) is

° Watch Video Solution

8.The mode of 1,2,3,4,6,6,6,7,8,9,and x is

° Watch Video Solution

9.If the mean of p,q,r,s,and tis 5,then (p-5) + (q-5) + (r-5)

+(s-5)+(t-5)

Ul
1l

° Watch Video Solution

10. The number of times a particular observation occurs is

called its...............


https://dl.doubtnut.com/l/_dA3158uD1oBJ
https://dl.doubtnut.com/l/_ro55Dcqn9oSw
https://dl.doubtnut.com/l/_ABvJnLQXbpnN
https://dl.doubtnut.com/l/_GifjgvEJGdPD

° Watch Video Solution

11. Which measure of central tendency can be used to know

the sales strategy in a shoe shop?

° View Text Solution

12. The mean of the first n natural numbers is 10, then the

number of observations is

° Watch Video Solution

13. If the total weight of 25 students is 625 kg, then mean

weight of 25 students is

| o Watch Video Solution


https://dl.doubtnut.com/l/_GifjgvEJGdPD
https://dl.doubtnut.com/l/_jCDgP8r90BuK
https://dl.doubtnut.com/l/_iDJVE8uyP0VS
https://dl.doubtnut.com/l/_qjeLox0iZSvW

14. n a certain data, highest value is (x + 4) and lowest value is

(x-4).Range of thedatais

° Watch Video Solution

15. The mean of certain number of observations is 10. Even
though one observation is deleted, mean is not altered. Then

the deleted observation is___

° Watch Video Solution

16. For a certain data, if the median is equal to the mean, then

the mode =

| O Watch Video Solution


https://dl.doubtnut.com/l/_qjeLox0iZSvW
https://dl.doubtnut.com/l/_okkOHJ9CkxUW
https://dl.doubtnut.com/l/_QC49J95A7CDw
https://dl.doubtnut.com/l/_ncaA6y2HFzuW

17. A person spends 20% of his income towards food, 25% for
education, 15% for miscellaneous expenses, and saves 40%.
The angle of sector representing expenditure towards

education in pie diagram showing his income is

° Watch Video Solution

18. The frequency of an observation p is q and the frequency of

another observation q is p, then mean is__

o Watch Video Solution

19. The most stable measure of central tendency is

| ° WMiab Al .\t daa CAli it



https://dl.doubtnut.com/l/_ncaA6y2HFzuW
https://dl.doubtnut.com/l/_h1GijPr5TraN
https://dl.doubtnut.com/l/_5qK42HDiLQpY
https://dl.doubtnut.com/l/_wd9GuExf9JpB
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20. Krishna wrote 1 to 100 numbers, the frequency of the digit

° Watch Video Solution

21. Find the mean of the following data. 4, 6, 7, 13, 25, and

° Watch Video Solution

22. Find the median of the following data. 24, 14, 13, 26, 12, 18,

o Watch Video Solution



https://dl.doubtnut.com/l/_wd9GuExf9JpB
https://dl.doubtnut.com/l/_3rq4V1Wyxiyz
https://dl.doubtnut.com/l/_BPqR7EJ9rsnF
https://dl.doubtnut.com/l/_Vi5RDYNp6EIB

23. If Mean = 24 and Median = 26, then find the Mode.

O Watch Video Solution

24.Find the mode of the following data.

1,12,11,12,13,11,12, 13, and 14.

° Watch Video Solution

25. Find the mean of the following data.

23,24,27,31,37,46, and 78.

° Watch Video Solution



https://dl.doubtnut.com/l/_GYfMtvY9F8Gn
https://dl.doubtnut.com/l/_7vqZ3USHaP1f
https://dl.doubtnut.com/l/_Mbz1vEHSxCuo

26. Find the median of the following data.

72,93, 48, 36,79, 23,41, and 81.

° Watch Video Solution

27. Find the mode of the following

data.2,4,2,3,3,4,6,8,6,2,2,and 3

o Watch Video Solution

28. Find the class marks and class size of the following

distribution.

[Csineral [ 0-10 | 10-20 | 2030 | 3040 | 40-50

o Watch Video Solution



https://dl.doubtnut.com/l/_dI1atKU47g53
https://dl.doubtnut.com/l/_q2Ew6HLloeZ3
https://dl.doubtnut.com/l/_okKIw3wozbAa

29. Percentage of marks of 35 students is given in the

following grouped frequency distribution table.

[ Marks (in %) 40-50 | 5060 | 6070 | 70-B0 | #0-90 [ 90-100
hate ol i A — | b - + — e
| Mumber of students 5 4 1 _'." | L) | 6 | 5 |

Which class has highest frequency?

o Watch Video Solution

30. If Median =29 and Mode = 31, then find the Mean.

o Watch Video Solution

Test Your Concepts Short Answer Types Questions



https://dl.doubtnut.com/l/_zyWUSczO3ypT
https://dl.doubtnut.com/l/_LhhfkQuA4igo

1. Find the mean of the following data.

[rigit on the dice 1 2 3 + 5 [
Frequency 2 2 4 3 4 3

° Watch Video Solution

2. Percentage of marks of 35 students is given in the following

grouped frequency distribution table.

Marks (in %z) 40-50 50-60 &60-70 70-80 8090 %90 100
Mumber of 5 ) 7 & [ 5

students

How many students scored 70% and more than 70% of marks?

° Watch Video Solution

3. Percentage of marks of 35 students is given in the following

grouped frequency distribution table.


https://dl.doubtnut.com/l/_Gd9Hp1FUbGeB
https://dl.doubtnut.com/l/_84CEwWJ0FXfl
https://dl.doubtnut.com/l/_uSac4vxgQGtW

Marks (in %) 40-50 5060 &0-70 70-80 8090 S0 100
Mumber of 5 4 7 8 [ 5

srudenes

How many students scored less than 90% of marks?

0 Watch Video Solution

4. Read the adjacent histogram and answer the following

questions.

Ty

Scale: On X-axss | em = 10 vears

il On Y-axi 1| em = 1060 persons

S0H

A0

Numiber of readent of colony x.

(1] 2 3 40 LU 1] i) )

Age group (in yean)

Find the group in which number of persons is more.

° Watch Video Solution



https://dl.doubtnut.com/l/_uSac4vxgQGtW
https://dl.doubtnut.com/l/_YVEI7fvpAuKz

5. Read the adjacent histogram and answer the following

questions.

Ty

(a0

S0k

R LY

Number of ressdent of colonv x.

10 20 W 40 W e To 80

Age group (n yeamn)

Scale: On X-axas 1 em = 10 vears
On Y-axis | em = 100 pemona

How many persons are there below 40 years?

0 Watch Video Solution

6. Read the adjacent histogram and answer the following

questions.


https://dl.doubtnut.com/l/_f2W4m4VIFl0z
https://dl.doubtnut.com/l/_nwTfToTQ55SW

Scale: On X-axis 1 em = 10 vears
On Y-ans | om = 1060 pemons

Number of ressdent of colony x.
5 . .

0 20 3 4 AW s T 8O

—

Age group (n years)

Number of persons in two groups are same. What are they?

O Watch Video Solution

7.Find the mean, median, and mode for the follow ing data.

Scores ERE 3] 4
Frequency | 4 [6]6] 4

° Watch Video Solution



https://dl.doubtnut.com/l/_nwTfToTQ55SW
https://dl.doubtnut.com/l/_WqJf1ecGkNG0

8. Find the median for the following data.

Frru.i'urn-_ v 2 i [ H 2

o Watch Video Solution

9. Find the mode for the following data.

SO ]ﬂ_: | 3|45

—

| B

| Frequency J 1/419]713]1

° Watch Video Solution

10. The mode of the observations 11, 12,13, 12, and 12 is

o Watch Video Solution



https://dl.doubtnut.com/l/_UZMaEHzfMDUL
https://dl.doubtnut.com/l/_sVYKrRfO0vwF
https://dl.doubtnut.com/l/_kBBLVTcU6dxk

11. If median - mean = mode - mean, then relation between

median and mode is

° Watch Video Solution

12. The mean of the following data is 2.

1114 41.‘
E i = th 2 S RSpE—
| -Iil | :]

Find the value of k.

0 Watch Video Solution

13.If a bar graph is drawn to the scale 1 cm =100 units, then a

P
bar of length 0 cm represents



https://dl.doubtnut.com/l/_eVYTEgSkNxCB
https://dl.doubtnut.com/l/_RIpu0HUihwsX
https://dl.doubtnut.com/l/_Ne07KCHmFrFx

| Y Watch Video Solution

Test Your Concepts Essay Types Questions

1. Mean of n observations is . If each of these observations is
increased by 1, 2, 3, 4..n, respectively, then what will be their

mean?

° Watch Video Solution

2. In a class, the average marks of boys is 520 and that of the
girls is 420. If the average marks per student is 500, the

percentage of boys in the class is ...

° Watch Video Solution



https://dl.doubtnut.com/l/_Ne07KCHmFrFx
https://dl.doubtnut.com/l/_wtNrEmVqjsvt
https://dl.doubtnut.com/l/_KIaK3hxlBUqH
https://dl.doubtnut.com/l/_O9wH2mrribUX

3. If the mode of the observations 4, 5, 6, 6, 5, 4, 4, 5, x, 6, 6, 5, 4,

6,5, is 6and x # -, then find the values of x and~y.

° Watch Video Solution

4. If the difference between the mean and the mode of certain
observations is 93, then the difference between the mean and

the median is

° Watch Video Solution

a a
5. If the median of E , @, 3'F and Z is 6, then find the value

ofa(a > 0).

° Watch Video Solution



https://dl.doubtnut.com/l/_O9wH2mrribUX
https://dl.doubtnut.com/l/_8rhz4Z1MjcLi
https://dl.doubtnut.com/l/_QAy3xmYpdj1V

Concept Application Level 1

1. The range of x, 14, 17, 23, 26, and 46 is 33. Which of the

following can be the value of x?

A. 32

B.74

C.48

D. 26

Answer: B

° Watch Video Solution

2. If the mean of 2, x, and y is 8, then the mean of x,y and 8


https://dl.doubtnut.com/l/_AUGXUwwuOywB
https://dl.doubtnut.com/l/_IVSyIMIc5pGY

A8

B.9

C.12

D.10

Answer: D

° Watch Video Solution

3.The median of x,y,z,p,q,andr (z >y >z >p>qg>r)is
m, then find the median of 2q, 2p, 2z, and 2y.

papid
"2

B.m

C.2m


https://dl.doubtnut.com/l/_IVSyIMIc5pGY
https://dl.doubtnut.com/l/_PF0FH3oONR0l

D. 2

Answer: C

° Watch Video Solution

4. A bar graph is drawn to the scale of 1 cm = k units. The

length of the bar representing a quantity 405 units is 5.4 cm.

Find k.

A.100

B.70

C.80

D.75

Answer: D



https://dl.doubtnut.com/l/_PF0FH3oONR0l
https://dl.doubtnut.com/l/_GHtefuTjH6wf

° Watch Video Solution

5. The range of 9, 13, 18, 21, 33, 46, and x is 39. Which of the

following can be the value of x?

A. 47

B. 50

C.8

D.7

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GHtefuTjH6wf
https://dl.doubtnut.com/l/_WrZCzbFNSeno

6. A bar graph is drawn to the scale of 1 cm = 2m units. The

length of the bar representing a quantity of 875 units is 1.75

c¢m. Find m.

A. 200

B. 175

C. 250

D. 275

Answer: C

o Watch Video Solution

7. The mean of a, b, and c is same as the mean of b, ¢, and d.

Then which of the following is correct?


https://dl.doubtnut.com/l/_TplcovNrARKr
https://dl.doubtnut.com/l/_P6H6kemLcnXL

Bb=c=a

Cb=c

D.a =d
Answer: D

° Watch Video Solution

8.1n a pie graph, a component is represented as a sector with
sector angle 96°, then find the percentage of the component

value in total.

1
A. 235 %

1
B. 28§ %


https://dl.doubtnut.com/l/_P6H6kemLcnXL
https://dl.doubtnut.com/l/_zSa54WM2x6br

1
C. 25§ %

262
D. —
3 %

Answer: D

° Watch Video Solution

9. If the median of a, b, ¢, d,and e(a < b<c<d <e)isk,

then find the median of 7 %, and g
A k
"2
B. k
C.2
D. 2k

Answer: A


https://dl.doubtnut.com/l/_zSa54WM2x6br
https://dl.doubtnut.com/l/_PGs1PQt5LmQU

° Watch Video Solution

¥ Scale: On p-axis 1 em = (00 students
0 9.7
[ - B3

[
R (%] 6.9
7 f 59
(1] -
5 4.7
p @Boys O Girks
A
2
1
[ e X
20 2005 20Ws h-Lin

Bar groph of numbaer of boys and number of girls in school A from
10. 2004 to 2007

In which year the difference between the number of boys and

the number of girls is more?

A. 2004

B. 2005

C. 2006

D. 2007

Answer: D



https://dl.doubtnut.com/l/_PGs1PQt5LmQU
https://dl.doubtnut.com/l/_XPhMkNXL7MEW

| @ Watch Video Solution

Scale. On p-axn 1 em = 100 sudents

=

= N ek a k-

Bar graph of number of boys and number of girls in school A from
11. 2004 to 2007,

Total number of students in the year 2005 is__

A. 1160
B. 1270
C. 1380

D. 1490

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XPhMkNXL7MEW
https://dl.doubtnut.com/l/_50JJ0j9VPmJ4

-

Scale: On peaxn 1 em = 100 students

=

i 78 A3
e -]

A [ f

7 [ 5y

L] -

g 4.7

p BBoyy O Girks

3

x|

1

- e X

20 2005 L 20007
Bar graph of numbaer of boys and number of girls in school A from

12 2004 to 2007

Find the minimum difference between the number of boys and

girls in any year in the given period.

A.90
B.70
C.50

D.30

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xFyTYXPZ7Crl
https://dl.doubtnut.com/l/_9pN4Z96whOjT

Y Scale: O pasos 1 om = (00 seudents
9.7
—

=

G - L]
76
A 6 64
7 f £ g s
[ -
5 4.7
1 ' EBoys O Girks
3]
2
1
[ L X
2004 20005 26y 2007
Bor graph of numbaer of boys and number of girls in school A from
13 2004 10 2007

In which year the number of girls is more than the number of

boys?

A. 2004

B. 2005

C. 2006

D. 2007

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9pN4Z96whOjT
https://dl.doubtnut.com/l/_AmnzofyXl1f4

Y Scale: On p-ans 1 em = 100 seudents

- B
T
L%} fY
f 59 =
4.7
B Boys 0O Girls
L L =X

9.7
A
20044 20H05 M 2007

ST E S

i Bar groph of numbar of boys and number of girls in school A from
1 4 2004 10 2007

Find the ratio between the number of students in the year

2006 and in 2007.

A.107:145

B.127:145

C.29: 36

D.107:127

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AmnzofyXl1f4
https://dl.doubtnut.com/l/_0ueUx1gqHu8M

N Scale: On Y-axs, | em = 1000 unies
10

10 4
9 H.1 \? 7
] T3 = |
7 i s 5.5 %h
b 7 ]
; |
4
1 | £ Two wheelers
2 O Four wheelen
|
- — = | X
2iWad 2004 2005 LY
* Bar groph represents soles of two wheelers and four wheelers in a mega
15 city from 2003 to 2004,

In which year the difference between sales of two wheelers

and four wheelers is less?

A.2003

B. 2004

C. 2005

D. 2006

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0ueUx1gqHu8M

Scale: O Y-asas, | cm = 1000 wmits
10

-

0 51 ? 2
R 73 o
-] 6.6 h 5 ?/ [3
‘ 7
5
‘ |
3 | £ Two wheelers
2 O Four wheelers
|
0 - X

‘tHI_‘- 1!'(!4 "l'lﬁ

Dorgmphnprﬂm:dnol‘hw bl l:ndhn.r J‘—L-numm
16 city from 2003 to 2006,

Total number of vehicles (two wheelers and four wheelers)

sold in the years 2003 and 2004 is

A. 26100

B. 28500

C. 25100

D. 27500

Answer: A

0 Watch Video Solution



https://dl.doubtnut.com/l/_5HbGEjjQAw4C

» . Scale: On Y-amas, | am = 1000 s
1
1n

|
10 4

) . D »
H 73 1
- 1 s hi /V/ '
, 7
; |
4 _
3 / | & Two wheelers
2 D_FOurwbeclm
|
i - Y
‘tNI_‘- "I'[H- "I'[ﬁ
Figure 14.7 hmwm&mmwmmmw
17 city from 2003 to 2004,

Find the maximum difference between sales of two wheelers
and that of four wheelers, in any year, in the given period.

A. 1500

B. 1700

C. 1800

D. 2000

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QU7UCKcDdzcG

-

Seale: On Yoams, | cm = 1000 umies
10

e

10
] 73 x|
5| b6 6.5 %h
% 7
: |
k) | |E Two wheelers
2 | O Four wheelers
1
0 A S - 1t | § J X
2003 2004 2005 2006
Bar groph represents soles of twe wheelers and four wheelers in @ mega
18 city frormn 2003 1o 2006

Find the total number of two wheelers sold in four years.

A. 26000

B. 27000

C. 31000

D. 32000

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QU7UCKcDdzcG
https://dl.doubtnut.com/l/_NGDLx1AWN3Wo

Scale: O Y-aoaas, | cm = 1000 umies
10

L

0
N 8.1 Z 2
. 73 m |
- ) 6.5 ,/Vﬁm
" 5.7
5
‘ .
3 | £ Two wheelers
2 O Four wheelens
|
0 — - - - X
2004 2005 2006
groph represents soles of two wheelers and four wheelers n o mega
19. city from 2003 1o 2008,

Find the ratio between number of vehicles sold in the year

2004 and in the year 2006.

A.41:46

B.69:91

C.147:182

D.46:49

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_V6x6Ml52PWcL

20. If median of p,q,r,s,t,u,v,and w is k, then find the value of

(p-k)+(q-k)+(-k) +(s-k)+ (t-k)+ (u-k)+(v-k)+ (w-k).

A.8

B. k

C.0

D. Cannot be determined

Answer: D

o View Text Solution

21. If the ratio of mode and median is 9:7, then find the ratio of

mean and mode.

A 2:3


https://dl.doubtnut.com/l/_C9m2JAMOr16e
https://dl.doubtnut.com/l/_owNel5oYI2rz

B.4:5

C.5:9

D.8:9

Answer: A

° Watch Video Solution

22. The mean of 17 observations is 30, three observations 20,

30, and 40 are deleted and one observation 90 is included.

Then, find the mean of the final observations.

A .33

B.34

C.35


https://dl.doubtnut.com/l/_owNel5oYI2rz
https://dl.doubtnut.com/l/_ayX35K1ArsZO

D. 36

Answer: B

° Watch Video Solution

23. The mean of 19 observations is 20, two observations 30 and

20 are deleted, and three observations 15, 25, and 10 are

included. Then, find the mean of the final observations.

A. 19

B. 20

C. 21

D. 22

Answer: A



https://dl.doubtnut.com/l/_ayX35K1ArsZO
https://dl.doubtnut.com/l/_b0ncpy00dJm2

° Watch Video Solution

24.If x and y are two distinct positive integers, then mean of x

and y is always greater than

dry
Tty

3xy

Tty
3zy
r+y

Sry

Tty

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_b0ncpy00dJm2
https://dl.doubtnut.com/l/_tPf1HntvUa06

25. If the ratio of mode and mean is 8: 5, then the ratio of

mode and medianis

A8:7

B.3:2

C.4:3

D.7:6

Answer: C

° Watch Video Solution

26. If mean of the following data is 6, then which of the

following can be the value of a?


https://dl.doubtnut.com/l/_GmAJhm0yJ7H5
https://dl.doubtnut.com/l/_ZBntTbFUVamg

«[2]sleJew]
FiiTaslaty

A4

B.5

C.8

D. All the above

Answer: D

° Watch Video Solution

27.1f the mean of a, b, ¢, d, e, f, .., X, ¥, z (26 terms) is 3, then (

a—p)+(b-F)+(c=PF+.+(@-F+(y-B)+(2-5)

is equal to


https://dl.doubtnut.com/l/_ZBntTbFUVamg
https://dl.doubtnut.com/l/_VLzpNYN9kOAd

A. 26

C.O

D. 25

Answer: C

° Watch Video Solution

28. The average weight of 20 students of a class is 33 kg. If the
average weight of all the boys is 35 kg and the average weight
of all the eight girls is y kg, then find y

A. 28

B.39


https://dl.doubtnut.com/l/_VLzpNYN9kOAd
https://dl.doubtnut.com/l/_WUvUxIQUBy9Y

C.30

D. 31

Answer: C

° Watch Video Solution

29. In a pie diagram, a certain component is represented by
60° and the total value of the components is 2160, find the
value of the component. The following steps are involved in
solving the above problem. Arrange them in sequential order.

(A) x 360° = 60°

x
2160
Component value

(B) Degree of the component = x 360°
Total value

(C) Let the component value of be x.

(D) x = 360


https://dl.doubtnut.com/l/_WUvUxIQUBy9Y
https://dl.doubtnut.com/l/_GEglgMgiTvIT

A. ABCD

B. BCAD

C.CABD

D. CBAD

Answer: D

° Watch Video Solution

30.P, Q, R, S, and T are five numbers in ascending order. Their

median is M. Find the median of Q/3, R/3, and S/3.

AM/3

B.3M

CM


https://dl.doubtnut.com/l/_GEglgMgiTvIT
https://dl.doubtnut.com/l/_ijO5ld5Axra8

D.3/M

Answer: A

° Watch Video Solution

31. A bar graph is drawn to the scale of 1 cm = x units. In it, the

length of a bar representing a quantity of 702 units is 3.6 cm.

Find x.

A. 165

B. 175

C.185

D. 195

Answer: D



https://dl.doubtnut.com/l/_ijO5ld5Axra8
https://dl.doubtnut.com/l/_QTqxgSqXcW9h

° Watch Video Solution

Concept Application Level li

1.If x and y are two distinct positive integers, then mean of x

and y is always greater than

A xy

B. \/iazy

C.2,/zy
D. ./xy

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QTqxgSqXcW9h
https://dl.doubtnut.com/l/_tIPRhTgScY14
https://dl.doubtnut.com/l/_goLibQl2VHOj

2. If the mean of the following data is 5, then which of the

following is the value of p.

FIEREN
,_

[ =
fl4al2]6]a]a

A9

B.8

D. 12

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_goLibQl2VHOj

3. A person distributed his total property among his three
sons. The ratio of total property, share of first son, second son
and share of third son is 24 : 7: 8. Find the central angle of
sector, which represents the share of the third son.

10

A T2
72

B.135°

C.105°

10

D.
67 5

Answer: B

° Watch Video Solution

4.1f the mean of first y natural numbers is 28, then find y.


https://dl.doubtnut.com/l/_j9reKSX0yj0A
https://dl.doubtnut.com/l/_6dcDf3SHVMeX

A. 28

B. 27

C.56

D. 55

Answer: D

° Watch Video Solution

5. Anand's income and expenditure are in the ratio 5: 2. Find

the central angle of the sector, which represents Anand's

savings.

A.144°

B. 108"


https://dl.doubtnut.com/l/_6dcDf3SHVMeX
https://dl.doubtnut.com/l/_DOmm3vMwocGG

C.90°

D. 216°

Answer: D

° Watch Video Solution

6. If the mode of the following data is 8, then find the median
of the data.

| 4 6] p 10}
ENEAREER

=
-'-'I'-.I'l
I

N

A4

B.6

C.8



https://dl.doubtnut.com/l/_DOmm3vMwocGG
https://dl.doubtnut.com/l/_xOT1gL00ravX

D.10

Answer:

° Watch Video Solution

1 1
7.The mean of x and — is N then the mean of 2 and — is
T T

Ak:—1
B.2k> — 1
C.k®2—2

D.2k%> — 1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xOT1gL00ravX
https://dl.doubtnut.com/l/_Lf53Tp6LG1v8

8.In a data a is repeated a times, b is repeated b times, and c is
repeated c times, where a, b, and c are distinct positive

integers. For the minimum possible value of mean of the data,

find the mode.

A1l
B.2
C.3

D.4

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_bHM2BG13cSGG

9. If the mean of first x natural numbers is 26, then find the

sum of the first x natural numbers.

A.1320

B. 1362

C.1632

D. 1326

Answer: D

° Watch Video Solution

10. If mode - mean = mean - mode, then which of the following

is necessarily true?

A. Mean = Median


https://dl.doubtnut.com/l/_KJx5Jjg1oG9q
https://dl.doubtnut.com/l/_nM6uCbS9r72t

B. Median = Mode

C. Mean = Mode

D. All of these

Answer: C

° Watch Video Solution

11. The mode of the observations 4,1, 2, 3,1, 3,1, 2, and x cannot

be

A2

B.3

C.4


https://dl.doubtnut.com/l/_nM6uCbS9r72t
https://dl.doubtnut.com/l/_9VVPVbugfJHA

Answer: C

° View Text Solution

12. The mean of the following data is 4.

-
x | 4 | 4 | & )
! H o 4

Which of the following can the value of a be?

A.6

B.2

C.4

D. All of these

Answer: D



https://dl.doubtnut.com/l/_9VVPVbugfJHA
https://dl.doubtnut.com/l/_TM370tpwGC8A

| o Watch Video Solution

13. A bar graph is drawn to the scale 1 cm = k units, then a bar

of length k cm represents

A. T unit

B. k units

C. 2k units

D. k2 units

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TM370tpwGC8A
https://dl.doubtnut.com/l/_ET4fuIXDC4kv

14. A pie-diagram representing the following data is

Eumilmrn'.'

o

(B

1

210

M)

4l

Component value



https://dl.doubtnut.com/l/_aOWC22RnltdG

Answer: D

° Watch Video Solution

15. The mean of the first n natural numbers is 32, find n.

A. 64

B. 63

C.65

D. 62

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aOWC22RnltdG
https://dl.doubtnut.com/l/_RdoFnVpAfI4a

16. If the difference between the mode and the median of
certain observations is 54, then the difference between the

median and the mean is

A.36

B.18

C.27

D. 81

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_s0RHtoxQeBrt

17. The mean of the following data is 9. Find the value of a.

'1-1_1_*_']*.212.

B.10

C.9

D.18

Answer: D

° Watch Video Solution

18. The mean of 5, 7, 8, 10, and 2x is x, then find the value of x.


https://dl.doubtnut.com/l/_JcG5QUtPtSd6
https://dl.doubtnut.com/l/_U1zXNhzXbxf3

A8

B.9

C.10

Answer: C

° Watch Video Solution

19. The mean of p, g, and r is same as the mean of q, 2r, and s.

then which of the following is correct ?


https://dl.doubtnut.com/l/_U1zXNhzXbxf3
https://dl.doubtnut.com/l/_iWPmXtgWJQIf

D.p=s

Answer: D

° Watch Video Solution

20. If the range of 16, 15, 21, 28, 48, and A is 34, then A can be

A 14

B. 49

C. Either (a) or (b)

D. A

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iWPmXtgWJQIf
https://dl.doubtnut.com/l/_3vrvZeOaomon

21. If mean = 28 and median =30, then find the mode.

A .32

B.34

C.36

D. 38

Answer: B

° Watch Video Solution

22. If the mode of the following data is 9, then find the median

of the data.



https://dl.doubtnut.com/l/_rBaHnpBmRJK3
https://dl.doubtnut.com/l/_mIH8FD0Ld5vS

A8

B.9

C.10

Answer: B

° Watch Video Solution

23. If the difference between the mode and the median of
certain observations is 54, then the difference between the

median and the mean is

A. 36

B. 18


https://dl.doubtnut.com/l/_mIH8FD0Ld5vS
https://dl.doubtnut.com/l/_Lbzi9Qsq8uXt

C.27

D. 81

Answer: C

° Watch Video Solution

2
24. If the median of g a a2 a is 12, then find the value

of a(a > 0).
A.36
B.48
C.30

D. 24

Answer: A


https://dl.doubtnut.com/l/_Lbzi9Qsq8uXt
https://dl.doubtnut.com/l/_lXMVFrVkNpPy

° Watch Video Solution

25. Mean of n observations is z. If each of these n observations
is increased by 2, 4, 6, 8, .., n, respectively, then which of the

following is the new mean?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lXMVFrVkNpPy
https://dl.doubtnut.com/l/_6V8JjrVzH2hp

26.In a company, the average salary of male employees is Rs
8200 and that of female employees is Rs 7200. If the average
salary per employee is Rs 7900, then the percentage of female

employees of the total employees is

A. 30 %

B. 40 %

C.50 %

D.25 %

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RpA0cgN3Y4F6

27.If the mode of the observations 4, 2, 3,3, 3, 2, 2,4, 2,4, X, 3,

4,4,2, 3,4 is 4, then x cannot be

A2

B.4

C.3

D. both (a) and (b)

Answer: D

o View Text Solution

28. The mean of 15 observations is 30. Two observations 28 and
38 are deleted and three observations 33, 39, and 48 are

included. Find the mean of new set of observations.


https://dl.doubtnut.com/l/_kZJ0prH74GNR
https://dl.doubtnut.com/l/_OzWCjKEwxiuR

A. 31

B.31.5

C.32

D.33.4

Answer: B

o Watch Video Solution

29.v49 newFlow

B.O
C.2a

D.2/a


https://dl.doubtnut.com/l/_OzWCjKEwxiuR
https://dl.doubtnut.com/l/_OSRZu5wgbjYc

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OSRZu5wgbjYc

